














If you write down all the numbers from 1 to 100, then how many 
times do you write 3 ?
यदिआप 1 से 100 तककी सभी संख्याएँ दिख िें, तोआप 3को
दकतनी बार दिखेंगे?
A.11
B.18
C.20
D.21



Find the missing ONE (?)

20 : 7980 :: 12 : ?

(A) 1800

(B) 1717

(C) 1716

(D) 1818
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Q Which number will replace the question mark ?

(A) 22 (B) 33

(C) 66 (D) 77

42 44 38

23 55 28

37 ? 39



Q  Which number will replace the question mark ?

(A) 1084 (B) 484

(C) 49 (D) 36

? 25 16

529 169 81

676 144 49



Q Which number will replace the question mark ?

(A) 13 (B) 6

(C) 17 (D) 22

? 13 15

9 28 4

13 12 16



Q Which number will replace the question mark ?

(A) 48 (B) 7

(C) 28 (D) 36

55 22 28

33 44 28

66 33 ?



Q Which number will replace the question mark ?

(A) 104 (B) 105

(C) 51 (D) 57

2 1 4

7 14 11

41 195 ?



Q Which number will replace the question mark ?

(A) 4 (B) 3

(C) 1 (D) 2

47 40 50 43

23 20 22 19

20 21 1 ?



Q Which number will replace the question mark ?

(A) 3 (B) 7

(C) 2 (D) 1

4 2 5

3 3 10

6 9 4

8 6 ?



Q  Which number will replace the question mark ?

(A) 42 (B) 32

(C) 52 (D) 22

4

15 8

48

7

5

6

21

5

7

12

?



Find the option which should replace (?)

11 , 60 , 256 , 795 , 1622 , ?  

(A) 1645

(B) 1646

(C) 1647
(D) 1648



Q.. Statement : 

Some Mats are Boats.

Some Boats are Grains.

All Grains are pebbles.

No pebble are tap.

Conclusions  : 

(I) Some Mats are Grains.

(II) No pebbles are tap.

EXAMPLE

प्र.. कथन : 
कुछ मैट नाव हैं।
कुछ नाव अनाज हैं।
सभी अनाज कंकड़ हैं।
कोई कंकड़ टैप नही ं है।
ननष्कर्ष:
(I) कुछ मैट अनाज हैं।
(II) कोई कंकड़ टैप नही ं हैं।



Q.. Statement : 

Some Mats are Boats.

Some Boats are Grains.

All Grains are pebbles.

No pebble are tap.

Conclusions  : 

(I) Some Mats are Grains.

(II) No pebbles are tap.

EXAMPLE



Q.. Statement :

All Goat are Hat

Some Hat are Bat

No Bat are Tap

Conclusions :

(I) All Tap are Goat

(II) No Tap are Goat

EXAMPLE

प्र.. कथन :
सभी बकरी टोपी हैं
कुछ टोपी बले्ल हैं
कोई बले्ल टैप नही ं है

ननष्कर्ष:
(I) सभी टैप बकरी हैं
(II) कोई टैप बकरी नही ं है



Q.. Statement :

All Goat are Hat

Some Hat are Bat

No Bat are Tap

Conclusions :

(I) All Tap are Goat

(II) No Tap are Goat

EXAMPLE



Statements:

Some keys are doors

All keys are locks

All doors are rooms

No room is a hotel

Conclusions:

(I) All hotels being locks is a possibility

(II) No lock is a door

(III) No hotel is a door

(IV) At least some keys are rooms

कथन:
कुछ चाभी िरवाजे हैं।

सभी चाभी तािे हैं।

सभी िरवाजे कमरे हैं।

कोईकमरा होटि नही ं है।

दनष्कर्ष:
(I) सभी होटिका तािा होना एक
संभावना है।

(II) कोई तािा िरवाजा नही ं है।
(III) कोई होटि िरवाजा नही ं है।
(IV) कुछ चाभी कमरे हैं।



Statements:

Some keys are doors

All keys are locks

All doors are rooms

No room is a hotel

Conclusions:

(I) All hotels being locks is a possibility

(II) No lock is a door

(III) No hotel is a door

(IV) At least some keys are rooms



Q..

Statements:

No mobile is pencil

All pens are mobiles

All cars are pencils

All pencils are bikes

Conclusions:

(I) No pen is a car

(II) All pens being bikes is a possibility

(III) All cars are bikes

(IV) All bikes are mobiles

कथन:
कोई मोबाइि पेंदसि नही ं है।

सभी पेन मोबाइि है।

सभी कार पेंदसि है।

सभी पेंदसि मोटरसाइदकि है।

दनष्कर्ष :
(I) कोई पेन कार नही ं है।

(II) सभी पेनका मोटरसाइदकि होना एक
संभावना है।

(III) सभीकार मोटरसाइदकि है।

(IV) सभी मोटरसाइदकि मोबाइि है।



Q..

Statements:

No mobile is pencil

All pens are mobiles

All cars are pencils

All pencils are bikes

Conclusions:

(I) No pen is a car

(II) All pens being bikes is a possibility

(III) All cars are bikes

(IV) All bikes are mobiles



Statements:

All kings are beggars.

All beggars are labourers.

All labourers are peoples.

Conclusions:

I. Some people are kings.

II. No labourer is king.

III. All kings are labourers.

IV. All labourers are kings.

कथन:
सभी राजा दभखारी हैं।

सभी दभखारी मजिूर हैं।

सभी मजिूर िोग हैं।

दनष्कर्ष :

I. कुछ िोग राजा हैं।
II.कोई मजिूर राजा नही ं है।
III. सभी राजा मजिूर हैं।
IV.सभी मजिूर राजा हैं।



Statements:

All kings are beggars.

All beggars are labourers.

All labourers are peoples.

Conclusions:

I. Some people are kings.

II. No labourer is king.

III. All kings are labourers.

IV. All labourers are kings.



Statements:

All artists are painters.

All actors are gentle.

All gentle are painters.

Conclusions:

I. No artist is actor.

II. All painters are actors.

III. Some gentle are not actors.

IV. Some artist are not gentle.

कथन:
सभी किाकार दचत्रकार हैं।

सभी अदभनेता सभ्यहैं।

सभी सभ्य दचत्रकार हैं।

दनष्कर्ष :

I. कोई किाकार अदभनेता नही ं है।
II.सभी दचत्रकार अदभनेता हैं।
III. कुछ सज्जनअदभनेता नही ंहैं।

IV. कुछकिाकार सज्जन नही ंहैं।



Statements:

All artists are painters.

All actors are gentle.

All gentle are painters.

Conclusions:

I. No artist is actor.

II. All painters are actors.

III. Some gentle are not actors.

IV. Some artist are not gentle.


